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Bodies in equilibrium test


(4)
1. How far from the left is the string that supports this mobile?










(3)
2. You are holding up the end of a desk so that it is just off of the floor so your roommate can put a new rug under it.  What force are you exerting if the desk is 1.2m long and has a mass of 90 kg? 

(4)
3. A 20 kg block is stuck/sitting on  a ramp that is inclined at an angle of 25(.  You apply a force of 200 N to try and slide it down, but it still doesn't move. What is the minimum coefficient of static friction?

 (4)
4. A 6.0 g spider hangs on to its thread from the branch of a tree. A horizontal wind blows the spider and the thread to an angle of 35( (4)
7. A 3 kg plank is extending over a wall by 2 m with a 5 kg bucket of paint hanging near the end of it. The painter balances the plank by placing 2 kg bricks on the other end (see diagram). How many bricks must she place for the plank to be in balance?

from the vertical.  Find the tension in the thread and the force of the wind.

(marks are approximate)

More practice problems:

 
5. A 0.35 kg ball is attached to a cord that will break when the tension exceeds 30N. It is rotated in a circle of 1.3 m. Find the maximum speed that the ball can have if (a) it is rotated horizontally (no friction), (b) it is rotated vertically.


6. For problem #5a find the period as well as the frequency (both in Hz and rpm) of rotation.


7. Look over the problems involving cars going around corners – with either ( or (.

Torque – practice

1. If the supporting string is 10 cm from the right, how much does the block weigh?


2. If the mass of the block is 20 g, and the string is 12 cm from the right, how heavy does the round mass have to be?  [Impossible! Change 12 cm to 6 cm]


3. How far from the left is the string that supports this mobile?
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An old test for practice!
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